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(E) Question not attempted
In 2023-24, the number of working da(y;s aranoneed under
the “Indira Gandhi Shahari Rojgar uarantee Schepen
were increased to: (Choosc the most appropriate Optiop
w .
{i\o)m tﬁ:g \J\Eorking days (B) 110 work!ng days
(C) 125 working days (D) 140 worklng da}’S
(E) Question not attempted .
Which of the following breeds of cow is known as the
“Kamdhenu of Rajasthan™?
(A) Malawi (B) Tharparkar
(C) Rathi (D) Nagori
(E)  Question not attempted
Which of the following is an initiative taken by the Raja,sman
Agriculture Department for women farmers’ €Mpowermeny)
l.  Provision of training. for women farmers for
dissemination of agricultural technology to fellow
women farmers.
2. Incentive to girls pursuing agricultural education,
3. Distribution of seed mini-kits to women farmers on
price.
4. Provision of tractors to all women farmers in each
Gram Panchayat of Rajasthan.
Choose the most appropriate option from below:
(A) Both | and 4 are correct.
(B) Both I and 2 are correct,
(C) Alll,2,3 and 4 are correct.
(D) Both 3 and 4 are correct,
(E) Question not attempted
Which of the following is a premier institute which imparts
training and undertakes research on rural development in
India?
(A) National Institute of Rural Development and
Panchayati Raj
(B) National Rural Development Organisation
(C) National Rural Institute
(D)  Rural Institute of Development
(E)  Question not attempted

Calcite deposits are found in which place in Rajasthan?

(Choose the most appropriate option from bel
(A) Alwar ? S iy

Under which projec No-g

B) Sirohi
(C) Bharatpur ED)) Dholpur
(E) " Question not attempted

The beneficiaries of the “Indira Gandhi Urban Credit Card

Scheme” are:

(A)  People worl
Rajasthan

(B)  Women workip,
Blue-

king as house-help in urban areas of

(C) g in corporate offices in Rajasthan
collared bank employees in Rajasthan

(D) Strcct_vcndors in urban areas of Rajasthan
(E) Question not attempted

According to the E ; . the
second advance e conomic Review (2023-24), as per

. slimates, e apita income at current

prices for the year 2023-24 s eszill;':catg::ltto be:- 9

(A) %1,79,080 (B) %1,76,240

©) z1,50653 (D) 2 1,67,964

(E) Qucs_tion Not attempted o

mos(: aPPomt_s the Prime Minister of India? (Choose e
APPropriate option from below) :
Citizeng of India (B) Parliament

Presideng
] D) Lok Sabha
Question not anempled( :

(E)
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Who administers the oath of office to the President of India
before he enters office?

(A) Prime Minister (B) Speaker _
(C) Vice President of India (D) Chief Justice of India
(E) Question not attempted

Which of the following-figures will complete the given
figure series?

AlO A
A ?
0 O
[m] o

(A) (B)

A

A
(©) - () (O
o |

(E) Question not attempted

Which of the following figure is the odd one out?

— g r Z | N
(a) (b) () (d) (e)
(A) c (B) b
©) d (D) e
(E) Question not attempted
Choose the odd one out. ",
L
(a) (b) (<) (d)
A) d (B) a
(C) b (D)

(E) Question not attempted

Choose the correct mirror

given below:

<

(X)

M

Mirror

MJ

(A)

©)

A
kY

(E)

(B)

(D)

Question not attempted

Y
X

(M M) image of the figure(X)
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Question not attempted

(E)
Which of the following figures will complete the pattery =
figure(X)?

?

(X)

(A) (B)

(©) (D)

(E) Question not attempted
In which stadium of India was the statue of the great cricket
player Sachin Tendulkar unveiled?

(A) Narendra Modi Stadium (B) Eden Garden

(C)  Wankhede Stadjum (D) Arun Jaitley Stadium
(E)  Question not attempted

Where was the Rising Rajasthan Global Investment
Summit-2024 organised? (Choose the most appropriai
option from below)

(A) Jaipur (B) Jodhpur

(C)  Udaipur (D) Jaisalmer

(E)  Question not attempted

" Gagan Shakti-2024 »
Indian Air Force at which
(A) Barmer (B) Jodhpur
(C) Pokhran (D) Alwar

(E)  Question not attempted

the
exercise was conducted by
place of Rajasthan?
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Who among the following is the only Indian skipper, men or

women, to have led India to two world cup cricket finals in

2005 and 20177

(A) Harmanpreet Kaur:~ (B) Yuvraj Singh

(C) M.S. Dhoni (D) Mithali Raj

(E) Question not attempted

Which scheme was launched by Ministry of Women and

Child Development to promotc gender equality and increase

sex ratio?

(A) PM Shree Yojana

(B) Mission Indradhanush

(C) Beti Bachao Beti Padhao Yojana

(D) Pradhan Mantri Garib Kalyan Yojana

(E) Question not attempted

You are given a statement followed by two arguments [ and

II. Decide whether a particular argument is strong or not.

Statement: Should the captain of the football team be

replaced by a experienced player for the upcoming world

cup series due in three years?

Arguments:

L. Yes. The current captain is nearing retirement and a
new captain needs to be nurtured for future.

II.  Yes. The current captain has a partisan attitude in the

team selection procedure.

Neither I nor II is strong

Only argument [ is strong

Only argument II is strong

(D) BothIand II are strong

(E) Question not attempted

In the following question, there are two statements (a) and

(b) followed by two conclusions I and II. You havc to

consider the statements to be true even if they seem to be at

variance from commonly known facts. You have to decide

which of the given conclusions, if any, follow from the

given statements.

Statement:

a. All who are punctual, succeed in life.

b.  Sheetal has always respected time.

Conclusions: Te

L Sheetal is a successful person.

II.  Sheetal is an entrepreneur.

(A) BothIandII follow

(B) Only conclusion I follows

(C) Only conclusion II follows

(D) Either [ or II follows

(E) Question not attempted

In the question given below, there is a statement followed

by two conclusions | and Il. Assume everything in the

statement to be true, then decide which of the conclusions

follow the statement beyond reasonable doubt.

Statement: The Chicf Minister of a state asked three of_his

ministers to either submit their resignations by the evening

or face disciplinary action. Two of them resigned

immediately. ;

Conclusions: "o .

L. The remaining one:would resign by the evening.

II.  The Chief Minister, will take disciplinary action

against him. ¢

Both I and Il follow

Only conclusion I follows

Only conclusion II follows

Either I or Il follows

Question not attempted

(A)
(B)
©)

(A)
(B)
©
®

) | Contd...
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. estion, 2@ statement is followed by a a
In this qu which of the co““ﬂsign

ons. Carefully assess
om the statement and chogg,

(s)
the

conclusi
logically follow(s) fr

correct option. ;
Statement: Kriti lcarns dance

o Ihc Hindustani Dance
Academy. She is 2 well mannered girl.

Conclusions:
s dance :
I Besides the fact that she learn » another tRait of

Kriti is her nice behaviour with everyone,

. Peoplc who lcarn dancc arc bound to be wel| behayeq.

(A) Only Il follows

(B) Bothl and II follow
(C) Only [ follows

(D) Neither I nor 11 follows
(E) Question not attempted

In the question given below, therc is a statement followeq

by three courses of action I, Il and I1I. Assuming everything

given in the statement as true, decide which of the suggesteq

course of action logically follow(s).

Statement: There is a significant increase in lung related

ailments in the city due to severe smog.

Courses of Action:

I.  Public must be encouraged to use public transport.

Il.  Hospitals should be informed about the situation and
asked to remain prepared to handle large inflow of
patients.

III. A delegation of health officials should visit the
President of the country to intimate about the situation.

(A) Only II follows (B) Only I and II follow

(C) Only Iand III follow - (D) Only II and III follow

(E) Question not attempted

In the question given below, there is a statement followed
by two courses of action [ and II. Assuming the information
given in the statement as true, decide which of the suggested :
course(s) of action logically follow(s).

Statement: If the retired senior police officers are invited to
deliberate on security arrangements during the convocation.

ceremony of a very reputed university, it would really beof
great help. e

Courses of Action:

I. The management Shﬁuld seck permission of the

I’ru‘fcssors of the university before calling retired

police personnels,

The proctoral team “should involve experienccd 4

" guurllc in beefing up the sccurity of the university-

P Oo:h Land 11 follow (B) Only I follows

(E) o I-l — (D) Either or II follows
Question not attempted
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28 A= Fe:'qrrqysg o, s Fud Far d Genfafr st n fnd§ | 28 In the question given below, there is a statement followed
F44H Eﬁ s ot Fal = 97 &u, Fofa & f gzme by two courses of action I and II. Assuming everything
AT H & I A1 ATl B9 8 SE0T LT 2 given in the statement as truc, decide which of the suggested
A R aves ArerF & i ot Y de & e avar o course (s) of action logically follow(s).
ﬁﬁﬂ“iﬁﬁ%l Statement: There was a significant rise in head injury
i o ardten: N related deaths among two wheeler riders.
I Hmr?xmgﬁ-mmag:ii.mam AT T RHE F TET Courses of Action:
Tl ol I[E’T%g] ! L. The traffic police should impose hefty fines for not
IL. ™= “imm T fera ST ST e ) wearing helmet while riding two wheeler.
(A) 13K [l_E'Fft S g?{ﬁ E II.  Two wheelers should be banned on main roads.
:g) AT | ATHW FHTAT % (A) Bothlandllfollow (B) OnlyI follows
) FE HAATT AT & (C) Only I follows (D) Either I or Il follows
(D) ATE [0 11 ST aFwar i
(E) Wﬂﬁgﬂ (E) Question not attempted
. ) 29 Find the missing term in the given series:
29 ?ﬁ;{@wﬁ@xwmﬁm 289, 262,235, 2, 181, 154,127
62,235,7, 181,154, 127 A) 208 B) 200
& 22 ) 20 (B)
\Lﬁ’ 208 (B) 200 (C) 207 (D) 201
(©) 207 (D)~ 201 (E) Question not attemipted
(E) aﬁ”'ti' L 30 Find the missing term in'the given series:
30 =i S guer # gu ug Jra i 7, 14,7, 56, 112, 224
71, )4,7,56,112,224 (A) 35 (B) 28
lag-9s8 18732 | pr 9 (C) 29 (D) 31
(C) 29 (D) 31 (E) Question not attempted
(E) oraia wa 31 Find the wrong term in the given series:
31 @ TE Y # Terd v T i 11,22,44, 88, 110,352
11,22, 44, 88, 110, 352 (A) 88 (B) 44
VI STy (B) - 44 © 332 (D) 110
(C) 352 v 110 (E)  Question not attempted
(E) rgaf wy 32 Find the next term in the serics:
i : 12, 12, 18, 36, 90, ?
32 fue § ALy I Hif » 14, 18, 36, 95,
12°12518' 36290, 2 (A) 300 (B) 280
(A) 300 (B) 280 ) 2o (o) .29
(C) 270 (D) 290 (E) Question not attempted
(E) ;ﬂiﬁﬁ—ﬂ e 33 Find the next term in the given series:
. 1,4,9,16,25,36,
(A)' :18 Sy (B) 64 (C) 49 (D) 81
wey 49 (D) " 81 (E) Question not attempted
(E) i v 34 Ifina certain code language, ‘PENTAGON” is written as
Al " T S ‘ ‘DQSOFBMP" and ‘BOUTIQUE” is writtenas
Rl e M L Rl s ‘NCSVPIDV’, how would *BEAUTIFY” be written in the
% W1 § *BEAUTIFY' & ferar smam ' ST O Ry BUHXG
o 2 B CDT
(A) CDTBHUXY (B) CDTBUHXG (é) gg;?ﬂﬂg ED)} DCTBHUXG
(C) DCBTHUGX (D) DCTBHUXG (© :
(E) 3rfuia w4 (E) Question not attempted o ‘ i
11872, 14~ 18 Ae o 35 Ifin a code language ‘PRISON’ is written as ‘RPKQQL’,
38 "%@ﬁg’? mqi;‘%'“gbl‘" w ;gi(QQL‘ ferar then how would ‘CRACKS" be written in the same code
: (%) T ‘CRACKS” ¥ fevan s A .
(A) EPACQM (B) - ATYEIU i \! (B) ATYEIU
(C) EPCASK Dy EPCAMQ ) EnACe A EPCAMQ
(E) Srmtta s o amaii (C) EPCASK ) (D)
ffim @ i 5y Guesionpt SR NTINA’ is written as
36 T Wi RLLL S ‘él@!}lj'[l_hj&' #r | 36 In a certain code language, ‘ARGE! , e
.-Bygégfili‘,%wammﬁ tﬁ.r#?!s=!ﬁv‘ how WOU‘d 'ENGINE be written In that
SH IS (F2) WTH ‘ENGINE’ F1 3 feram stmem code language? <
(A) #!7=14 (B) 12#=71 (A) #17=1# (B) 12#=2!
rJf_?‘) =12 (D) 21=#12 ©) 21#=12 (D) '=H#!1?
(€) SupERRse (E) Question not attempted % <
3 'sf 1’ ‘fl e l Co“td.oa
ARSI i 6 S 1420, % s 14 10/0/'1"1@ V E
aon B V,
PENTH e PID R,

noecntnmMmPe.



- %= 918
$) ) 3sHE 90 23"
39 1{} " @
_ . e <47 and ‘SAMPLE’ j
(13K 126 : LE® is coded as ‘47 an . 1S Codeq
37 AR AMPLE @147 %wﬁﬂ%ﬁ(iﬁﬁwﬁmwﬁ"aﬁf 37 !gﬁf‘?f,fn how will "AMPLIFY bccl'i_:dfd? >
*SAMPLE" #1 66" % &9 % #ifda frarsar &, a1 ‘AMPLIFY b= (B) 113
A P () Rt s L. o % (D) 83
—Xx) 82 (B) 113 E) Question not attempted B
(C) 75 (D) 8§ ( IPE" is coded as 8295, *NATO’ is coded 35634?%(!
: - F e = is et Y T :
(E) gaRa ww ; 3 {:’!&‘THER‘ is coded as 9364158, what will be the coge
38 AR RIPE' ) 8205, ‘NATO® F 6347 3 ‘PANTHER® & \PRINTER"? .
0364158 Fre faT rar &, @ PRINTER® & R s = (A) 9846285 (g; gﬁgﬁgg
g (C) 8926458 cd( =
(A) 9846285 (B) 9826458 (E) Question not attcmptl . Skl
(C) 8926458 (D) 8924685 9 Introducing a woman to his wifc, aj sat et mother j
&) . 3 u':c wife of my n:lo;.htel:;sr.‘)fathcr . What is the relation of Raj
. i -oman’s father’ ;
» petet@merednRn i, g | e S o
(A) ST (B) W ' (C) Grandson (Maternal) (D) Son
(C) =& (D) 7 (E) Question not attempt . ' \
(E) gaia us 40 Surendra said to Ajay, “That _g";] I:]lay'_“g[ badminton is the
. “ : < erand-daughter of my motht‘:‘r s father-in-law }\huhad
40 |E I Y | T, “IE A A SefiieT A @ g Aq | onc son and no daughter™ How is the girl related to
F W gg?ﬁ%ﬁ?ﬁwéamaﬁtﬁaﬁqﬁamw o et D s
SEE ] Ha R (A) Wife :
(A) g (B) &1 (C) Daughter e({D} Niece
(©) (D) SelisH (E) Question not attempt
(B) rgaf@uw 41 Navneet told Preet, ‘Though I am the daughter of your
41 Tada Y W Q= ‘mﬁﬁﬁlﬁﬁ‘uﬁaﬁﬁ a9 08§81 mother, you are not my sister.” How is Preet related to
FE I’ ECEin Hs s Navneet? )
: a}l‘mﬂam b 5 (A) Nephew (B) Sister
(4) B) - (D) Cousin
0) 'I-TI§ (D) E!%'{T’:I'Ié ) Bmtht;:r
EF} T (E) Question not attempted
) = i i llowing fi ill lete the gi
2 B iR cﬁ R R T @‘ET ? 42 :‘:i,rlz::chn?afu-‘ii?? following 1_gures will complete the given
B2 (= B |? e
i C\O \I O\o =l
Jo) \5 (B) d (A) \> (B) d
(©) % ® p ©) Q‘ (D) l>
(E) 3¥qfa s . . (E)  Question not attempted
43 39 SFEA 0 = F S A A v qw e s e . ﬁ:}gﬁ:_‘he figure which would continue the same serics 35
AL OO 2 ]
SES AL AR AL OO 2
v O ® 1O
£ » [O
o [N ® (O »
7L o [O
3 e :
(E) ‘ (E)  Question not attempted
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4 Fmﬁwﬁzaﬁﬁaﬁnﬂmﬁé’mﬁ siaer ! st @i
¢——|_. d .—]_. F 1—1
(A) Fl (®) T—;
(©) T_T (D) iy
(E) gafa s
45 mﬁwﬁﬁﬁmmmmﬁaﬁaﬂﬁ@m
Q
AL 2 Y
o N S
Q Q
(A) b (B) @
c C
(© @ (D) I>
(E) oTFaia sy
46 39 T AN SAIST S AEETA TS ST, Ffadr, did, i
R T T g Rl
(A) TEEE (B) | T &
() Hﬂgﬁm (D) Eﬁ%ﬂl@ﬂa
(E) 3133?{?{?{5(%! g
47 39 SRig EiT HEER F AW Sasy e e e J
e ot st foram or 2
(A) it o WE (B) Usrhi STt wis
() wr=STw (D) * wirfremret fivelt
(E) agﬂﬁﬂﬁﬂ
18 s TR ST ST T He R
(A) frarsTd (B) FHI
© wama (D) & d
(E) 313?|’fl?|’§‘.‘1
19 Freferfia i @ e STC G aren sfer @ e e
oam
(A) TN getT I (B) st o
© e TmeRE (D) e At
(B) a5
50 “wew tE AT i TS & T 1 A qaT
(A) ISt HATH (B) it S e
(©) g (D) -3 fird
(B) e s
S1 e 3 e i o rered i P i fera &2
(A) @I ST () femft Femorst
(c) Shommar (D) e
() argfe s
AAS1] s

44

45

46

47

48

49

50

51

Which of the following figures continue the given series?
(A) ﬂ (B) T’}

(E) Question not attempted

Select the figure from the following options which will

complete the given serices:

Al e | AV

O
Q Q
A) [> (B) <]
c C
© é] ® |[a>

(E) Question not attempted

Name the Khyal which is a beautiful fusion of contemporary
news, poetry, music, songs and dance.

(A) Shekhawati Khyal (B) Hela Khyal
(C) Jaipuri Khyal (D) Kanhaiya Khyal
(E) Question not attempted

Name the famous ‘Swaang® artist who has represented
Rajasthan in Bharat Utsav ?

(A) Gopi Kishan Bhatt. .~ (B) Janki Lal Bhand

(C) Lachhiram (D) Mangilal Mistri

(E) Question not attempted

Shrilal Joshi, a phad artist belongs to

(A) Bhilwara (B) Sikar

(C) Jaipur (D) Churu

(E) Question not attempted

Who among the following wrote the
four volume history?

“Vamsha Bhaskar’, a

(A) Dashora Durlabh Ram

(B) Suryamal Mishran

(C) Kaviraj Shyamaldas

(D) Gobind Gangadhar Pandey

(E) Question not attempted

Name the author of *Annals and Antiquitics of Rajasthan’.
(A) Alexander Cunningham (B) Col. James Tod

(C) Jamcs Skinner (D) James Prinsep

(E) Question not attempted .
Which temple is situated at the foothills in Rewasa village
of Sikar? : g 2

(A) Khatu Shyamji (B) Diggi Kalyanji

(C) Jecnmata (D) Kaila Devi

(E) Question not attempted
| Contd...



52 swEel vda siwen Freffaa i @ fa ap @t e @2
(Fr= 7 & w=d 39w faeT )

(A) garasd (B) SIS
(C) TiearT i (D) femrera &
(E) orgaia v
53 Frerferfian § @ F-a7 O, Terwr § st 6w w
e &2 (A 7 & e 3ugs fased )
(A) wEiER (B) femmerd
(C) uidpftare (D) 37TEet
(E) guiayd
54 g A et i F A d Fefafaa § d s wsm adt
T8 a2 _
(A) e g SOy, I & wea qut afioft st F urd el
2l
(B) swt famior fheeedta wd wwiafia vt @ gar 21
(C) 39 Pt & AegiS, FIewIca T 2 ot w3 2 3
(D) i <1 aftufa & Fwer I8 o fomar
(E) ruia u=
55 frefcifaa A @ forw U =i a0 w1 sheqaer e s 22
(A) B (B) &L
(C) == (D) Hw
(E) Tditd us
56 {3 & uvreum f gaw S A e @ R
(A) TR (B) fecmEmst
(C) Wz (D) TEREE
(E) A{uia ™
57 WRA 6 G99 g€ WeEs @ g 6 e ToryE i {1
FefafEa e s dr
(A) Y99S (B) ®W
(C) Er=am (D)  TIITHRITET
(E) Aquia g
58 2011 F SFETOET % JTAR TSI F F 91 forem waifoes
HIET &7
(A) Hi=t (B) ST
(C) =i (D) #FL
(E) Al 94
59 Tamfefaa @ & =17 a1 9 €t 11 gaen 5 qgfar a1 srgaw s
’25_%'2(‘1 2o Jo —
Z, XW, TSR, NMLK, ?
(A) FEDCB —B) EDCBA
(C) BCEDF (D) EFDCB
(E) Aqdf@y

60 e # g vz 3 e,
MESV, OJYD, ?, SRKT, UVOB

)" QMFO (B) _QNDL
(C)y POCL () _ONEL
(E) Sigaras

61 e H ST 98 i A ;
PH, ME, JB, GY, ?

(A) AZ ~B) DV
(C) CV (D) Dbw
(E) 3rgafa s

AAS1 ]

52

53

55

56

57

58

59

60

61

10

ravalli mountain range 1 a part of whijep,

of
g Jandmasses? (Choose the most appropriate the

Optiop

The A
followin

below)
{f:’)m lfurvanchals (B)  Angaralang

(C) Gondwana land (D) Himalaya“mgion
(F.) Question not attempted

Which onc of the following acts as 3 Water diyig, :
Rujfls;lhan‘? (Choosc the most appropriate option e
below)

(A) Eastern Ghats (B)
(C) Western Ghats (D)
(E) Qucstion not attempted
Which of the following statements is NOT ¢ sbou

laterite soil in Rajasthnn‘:’
This soil is found in Dungarpur, central and

Himalayas
Aravalli

(A) :
part of Udaipur. _

(B) Itis formed by the crystalline and mc_tamﬂrphicmch_

(C) This soil contains enough quantity of itrogen,
phosphorus and humus.

(D) It looks red due to the presence of Iron,

(E) Question not attempted

Which one of thc following trees is known as the

‘Kalpvriksha of Thar’?

(A) Khejadi (B) Date Palm

(C) Babool (D) Neem

(E) Question not attempted

Which of the following is the highest peak of Rajasthan?
(A) Taragarh (B) Dilwara

(C) Mount Abu (D) Guru Shikhar

(E) Question not attempted '

The largest inland salt water lake of India is in Rajasthan.
Which one of the following is it?

(A) Pachpadra (B) Sambhar

(C) Didwana (D) Lunkaransar

(E) Question not attempted

According to the 2011 census, which district in Rajasthan is
the most literate? "
(A) Sikar (B) Jalore

(C) Kota (D) Jhunjhunu

(E) Question not attempted

Wh.ich of the following term follows the trend in the given
series?

Z, XW, TSR, NM LK, ?

(A) FEDCB (B) EDCBA
(C) BCEDF (D) EFDCB
(E)  Question not attempted

Find the missing term in the series:
MFSV, 0JYD, 2, SRKT, UVQB

(A) QMFO (B) QNDL
(C) rocCL (D) QNEL
(E)  Question not attempted
Find the next term i .
PH, ME, JB, GY, 9
(A) Az (B) DV

© cv (D) DW
(E) Question not attempted

n the series:




62 ﬂﬂéﬁ@mﬁmﬁmmm
BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ?
[ Ty (B) " AUTIF
@), Tk (D) EAUTI
(E) Igalaws
63 TS AT § IR 02 31 e
2-BZM, DXN, FVO, HTP, ?
(A) RIQ

\V

R R
(E) Tgufa wx

64,\" ?@Tg?ﬁq

T a) cP’ e () 00T
® sgtom O

65 Frferiaa wredi & 7w § @ ag gm G s o A
() w3 (B) - TE-GH
(C) wi-3tuer (D) A
(E) Igaft@ws

66 TS A, U o Brge U M altss & aur )
1 999 Shifsig |

ALA) 133 (B) 57
C) 114 (D) 108
(E) rgaf@usd

67 F& M I hife S I i & B R

(A) UEl-=EdEEe (B)  Fe-Fan
(C) FF-aS (D) se-miEER
(E) rui@ 9

68 i feuTu yres uw Y Siewt ot 7 fof o & ww ©) faww
F1 997 fifSg

(A) &I (B) e
(C) S (D) =g
(E) a9
69 HiWedl @™ FH AT ;
(A) o v qarEiE aFl afEcd e &
(B) Fad viifaes qfEda aar s
(C) Fad TaEE IREdT e e
(D) = ar *itfera 3 & TanfE yfeds g g
(E) 3gafd 54
70 T T S ST UTH Hh B S41d 8, FEed 8-
(A) 9FdA (B) urqd
(C) =rHErd (D) ImaTae a
() srAfans
71 frafafea # & @60 w1 wErfe simme w1 e 22
(A) PbO (B) .. COy
(C) SiO2 (D) - CrO3
(E) 3ref@ e

72 =fe fdt & feufa = w
S a@ﬁ*rr;- B, dl IgeR IAer 34U S

(A) =00 F ga R BT F g
(B) Wied g doy & Ui

(C) IFgIR

(D) IHAW -

(E) 3gafa 94
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64

65

66

67

68

69

70

71

72

L
-

What should come next in the given series?
BEAUTIFUL, BEAUTIFU, EAUTIFU, EAUTIF, ?

(A) TAFIU (B) AUTIF
(C) UTAIF (D) EAUTI
(E) Question not attempted

Find the next term in the given series:
BZM, DXN, FVO, HTP,?

(A) RIQ (B) IJRP
(C) JRQ (D) JQS
(E) Question not attempted

Choose the ‘odd’ onc out:

QT, LO, SP, CF

(A) CF (B) QT
(C) LO (D) SP
(E) Question not attempted

Amongst the following pair of words, find the one which is
different from the others:

(A) Bird-Fly (B) Cow-Milk
(C) Hen-Egg (D) Sheep-Wool
(E) Question not attempted

The numbers given below are alike in a certain manner
except one. Choose the odd one out.

(A) 133 (B) 57

© 114 (D) 108

(E) Question not attempted

Find the pair which is different from the other three.

(A) Bird-Chirp (B) Camel-Tall

(C) Turtle-Fast (D) Tiger-Camivore

(E) Question not attempted

The words given below.are alike in some manner except
one, spot the odd one out..-

(A) Potato ~ (B) Banana

(C) Fig (D) Peach

(E) Question not attempted

During the burning of a candle:-

(A) Both physical and chemical changes occur

(B) Only physical change occurs

(C) Only chemical change occurs

(D) Neither physical nor chemical change occurs

(E) Question not attempted

The elements which tend to form anions by gaining electrons
are known as:-

(A) Ductile elements (B) Metals

(C) Non-metals (D) Malleable elements

(E) Question not attempted

Which of the following is an example of amphoteric oxide?
(A) PbO = (B) CO

(C) SiO, (D) CrO;

(E) Question not attempted

If the position of an objeet is at infinity, its image formed by
a convex mirror will be:< .

(A) Between the pole and the focus of the mirror

(B) At the focus behind the mirror

(C) Atthe pole of the mirror

(D) Atinfinity

(E) Question not attempted

| Contd...
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(A) oI (B) THEEIES
(© Fm (D) =T
(B) rfafaws
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(A) S (B) i TREdT
(C) wEEIeteR (D) uEHiaEl
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77 STl gt i ffes, tamate o S e &
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(A) TrET (B) et
(C) el (D) ¥g¥T
(E) Afai@usd

78 TS IYET Yeiu NIRRT 1 AqeT 7 e 8 (e i @
Ferd I forehed )

(A) =3 AT F T&T =TT
(B) UsIU

(C) TAFHA T

(D) weEawHt

(E) 3rai@9g
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(A) wHT (B) M
() (D) Sl
(E) SI{aia vy

80 =T i FriufeE vt g fifea et &2
(A) TIIE
(B) TEwA
(C) wendh
(D) T F1 3 e =rarefray
(E) Srgaiaux
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73

74

75

76

77

78

79

80
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12

The character which does not expregs 23
is called:- .

(A) Genotype (B)
(o)) Recessive character “ (D)
(E) Question not attempted

which of the following i_sj_r_19_t' an o
digestive system? (Choose_the mogt 5,
from below)

(A) Trachea (B) Ph

(C) Esophagus (D)  Rectym
(E) Question not attempted

Which of the f'nllowing.is NOT an g .
(Choose the most appropriate option from, bCIow) iSease
(A) Cholera (B) Typhoig

(£ e - (.D) Tuberculosis

(E) Question not attempted

The distribution of the biological potentia] ofthe land which
can ultimately lead to dese__-rt_-:like condition is termeq a..
(Choose the most apprupriaﬁgr_?pﬁ{m from below) ;
(A) Biological loss (B) Climate change

(C) Desertification (D) Loss of land

(E) Question not attcmpted

Which of the following tefms is used to explain the
undesirable change in the physical, chemical or biological
characteristics of natural cn\;ril::onment?

(A) Quality (B) Epidemics

(C) Pandemic (D) Pollution

(E) Question not anemptcﬂ}

The “State Disaster Managaj:_i:f:nt Authority” is headed by:-
(Choose the most appropriate option from below)

(A) Chief Justice of High Court

(B) Govemor

(C) Chief Secretary of the State

(D) Chief Minister it

(E) Question not attemptcda:

Identify the name of the suchCYClone that caused cxienE
damage to West Bengal and Qdisha in May, 2020-

(A) Fani (B) Amphan

(©) Rita (D) Katarina

(E)  Question not anemptcd";

i Fi ger“"‘niu
n

A"elOmDTph

i the hy

In whom is the executive power of State vested?
(A)  Governor

(B)  Home Minister
© ChiefMinislcr j

(g) Chief“]usticc of Supreme Court
(E)  Question not attempted |

Which of the following is NOT an essentia!
(andltl()ﬂ for appointment as a Govenor?
) H"j should be 5 domicile of the state 0
- being appointed. ey
o ll:lle should be 5 citizen of India.
2l Hc Must have completed the age of :
€ must not pe , member of ¢
(E) :

qug_]lﬁamd .

Parliamen;.
Question not attempted
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83

84
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Who among the following was the first Chicf Sccretary of
Rajasthan?

(A) ShriB. G. Rao (B) Shri S.W. Shiveshkar
(C) Shri K. Radhakrishnan (D) Shri V. Narayan

(E) Question not attempted

Which Constitutional Amendment Act facilitated the
appointment of the same person as a Governor for two or
more states?

(A) 7" B) 4"

©) 6" (D) s"

(E) Question not attempted

Given below are two statements:

Statement I: The Governor appoints only those persons as
ministers who are recommended by the Chief Minister.
Statement 11: Chicf Minister allocates and reshuffles the
portfolios among ministers.

In the light of the above statements, choose the most
appropriate answer from the options given below:

(A) Statement [ is incorrect but Statement I is correct
(B) Both Statement I and Statement Il are correct

(C) Both Statement I and Statement 11 arc incorrect

(D) Statement [ is correct but Statement Il is incorrect
(E) Question not attempted

Who was the first speaker of the Rajasthan Legislative
Assembly?

(A) Narottam Lal Joshi_

(B) Poonam Chand Vishnoi

(C) Ram Niwas Mirdha

(D) Ram Kishore Vyas

(E) Question not attcmpted

Below is a statement followed by two assumptions. Based
only on the statement, décide which of the assumptions is/
are implicit in the statement.

Statement: When peopleé ask who painted your home, you
know that your home is excellently painted.

Assumptions:
L. People want you to tell them the criteria for excellent
painting.

II.  People do not ask about your painter if the painting of
your home is not good.

Neither I nor II is implicit

Only 1 is implicit

Only II is implicit

(D) Both I and 1l are implicit

(E) Question not attempted

In the question given below, a statement is fol lowed by two
assumptions numbered I and I1. Based on the statement and
following assumptions, decide which of the assumptions is/

(A)
(B)
©

are implicit. .

Statement: A bus agency has decided to increase the
passenger fare by 10% after the board meeting.
Assumptions: v

1. The demand for the seats will fall drastically.

[I.  Other bus agencies will also hike their fares.

(A) Neither I nor Il is implicit

(B) Only Iis implicit '

(C) Only Il is implicit

(D) Both I and Il are implicit

(E) Question not attempted
[ Contd...
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s a statement followed by two assumpt;

; = :

88 Bclo\;’n the statement, decide which of the assumpﬁB%d
onn.’ licit in the statement. iy
are imp nnot usc internct at location X

statement: 1 €2

tions: ) o
Assun;:tcmct facility is notavailable at
I:

location = he internet is not worki
s thet rking proper

"') These 02 or Il is implicit s Y-
(A
(B)
©
(D)
(E) !
Given below 1s 0
and I1. You have to
strong or not.

Statement: Shou

Arguments: -
I No. They will turn masculine.

I Yes. It would give t_he'm the confidence to counter
their perpetrators cffectively.

Neither I nor IT is strong

Only argument I is strong

(C) Only argument Il is s;mng

(D) BothI and II are strong

(E) Question not auemptc_d’-
Given below is one statement followed by two arguments |

and I1. You have to decide whi:ther a particular argument is
strong or not. ‘: s
Statement: Should the ban on poaching tigers be lifted?
Arguments: o
I.  Yes. The poachers are [0sing their livelihood.
II.  Yes. The tigers are dangerous animals and could bea
threat to humans.
Neither I nor I1 is strong
Only argument I is stron
Only argument II is strong
Both I and 11 are s‘trong,'1
(E) Question not attempted
The state associated with g’&}./chemical accident in 1984
was:- s
(A) Uttarakhand (B) Rajasthan
(C) Uttar Pradesh (D) Madhya Pradesh
(E)  Question not attempted s
Who among the following is empowered to form anew S
by separation of territory from any state? (Choose the most
appropriate option from bC]Dw)
(A) Chief Minister (B) Prime Minister .
(C)  Supreme Court (D) Parliament
(E)  Question not 4 : -'
The original ng; P v ritten 10
flowing ital; ndian Constitution was handwritee
ic style by:.
Eg)) Dr. K.M. Munshj
P ihars
© Hvr i Narayan Raizada
R, chngar
(D) B.N. Rao

(E)  Question ot attempyeqg

Neither [ nor %
Only 1 is implictt

Only 11 is imphm.t .

Both I and I1 are implicit

Question not attempted

e statement followed by two argumenys
decide whether a particular argument

1d every girl have self-defence training)

(A)
(B)

(A)
(B)
©)
(D)
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AAS1 |

I 3 S Ty e 2
(A) TER IO oIS g
(B) WIS 3 FeT T
(C) 1. T8z yHIE

(D) ST a9

(E) Irgaf@wy

HIRTT W91 3 99 geelt 93 3w S o
(A) 19 TE5T 1946 (B) -0 Fa=T 1946 Ft
(© 19RET1946H (D) o fedsw 19463
(E) gaiawx

A IS T ST F g2 et S it e & d
TN AT WEUH F T Friars an) e (e 3 & gt
39T faseT 99)

(A) T, T et e sifufam, 2005 ¥ deq T
2 A TTERFA AT 8T 2 :

&, T8 AR Afufae a1 39 aga e fm &
e ot oft stferarlt Y foreft oft e e dar 21
e, TE Arg el g

“FTEAT A =1 TS e @ Eeer et oft diemgeii ot
SR TE B 2

(E) SITaiawy

*ITTEIATS STfufEm, 2005° F AT EH F =1, GIAT HI TAAT
sfufram, 2002 # fafa w22 (7= 7 @ vt 3ug e
)

(A)

(B)

©
(D)

7% W ® 3R S &2 o amdiens sfufiam, 20050
fatramaTet 2, 9 918 910 & @ FL 3

@ s mar

S EY S AR ST aed (T ST, T8 ] S ST
(D) % HTEHT A US4 TR &1 4 A S &t Jams < 21
(E) Siaiaysd

TS AUTFET T HIT W =Y 3EEA] & SRt a9
o Farar &2

(A) GrTs(l)
(C) HTa6(3)
(E) ¥afa g

g 1 st sifafEE, 2005 situtrafia B mr
(A) 15372005 F (B) _ 2252005

(C) 22F@ME2005F (D) 2 3 2005 i

(E) gafawa

foraferfaa i & form ot 29 1 qaemm oarde & s i
gSd &2

(A) AR
(C) vedTYsit
(E) Srguiawd

,

(B)
(©)

(B) =T 5(3)
(D) = 7(5)

(B) " TSt
(D) rwEasht
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Who was the first President of [ndia2
(A) Sardar Vallabh Bl'l_;ii Patel

(B) Maulana Abul Kala{ni Aoad
(C) Dr. Rajendra Prasad §

(D) Dr. Bhimrao Ambedkar

(E) Question not attempted

The Constituent Assembly held its first session meeting on:-
(A) November 19, 1946 (B) November 9, 1946

(C) December 19, 1946 (D) Deccember 9, 1946

(E) Question not attempted

Would the action in good faith provision be applicable if a
PIO unknowingly declares exempted information? (Choose
the most appropriate option from below) '
No, it only applies to refusal to give in information

(A)
under the ‘RTI Act, 2005.”

(B) Yes, it applies to any action of any official under the
‘RTI Act’ or any rule there under.

(C) No, it will not be applicable.

(D) Protection of the “action in good faith™ is not
applicable to a P10 at all.

(E) Question not attempted

After the enactment of the ‘RTI Act, 2005°, what is the

status of the ‘Freedom of Information Act, 2002’? (Choose

the most appropriate option from below)

(A) It exists and to the extent the ‘RTI Act, 2005’
contradicts, it will supersede the latter.

(B)

©

It has been repealed.

It will become operative as soon as the Central
Government makes rules under it.

The Central Government has advised the State
Government to implement it.

(D)

(E)
Which provision of the RTI Act explains about transfer of

Question not attempted

applications?

(A) Section 8(1) (B)
(C) Section 6(3) (D)
(E) Question not attempted

Section 5(3)
Section 7(5)

The Right to Information Act, 2005 was cnacted on:-
(A) 15 June 2005 (B) 22 June 2005

(C) 22 July 2005 (D) 2 October 2005
(E) Question not atten{ptcd

Which of the following. folk deities is worshipped as
“Ramsa-Pir” by the muslims?

(A) Devnarayanji (B) Gogaji

(C) Mallinathji (D) Ramdevji

(E) Question not attempted
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